
Time and work

1. 24 men can complete a piece of work in 16 days. The same work can be completed
by 8 women in 72 days, whereas 24 children take 32 days to complete it. If 10 men,
15 women and 24 children work together, in how many days can the work would be
completed?

24 Deeoceer efkeâmeer keâece keâes 16 efove ceW hetje keâjles nw~ Gmeer keâece 8 Deewjles 72 efove ceW hetje keâjleer nw~ Je Gmeer
keâece 24 yeÛÛes 32 efove ceW hetje keâjles nw~ Ùeefo 10 Deeoceer, 15 Deewjles, 24 yeÛÛes efceuekeâj Gme keâece keâes
keâjles nes leye mechetCe& keâeÙe& efkeâleves efoveeW ceW hetje nes peeÙesiee~
(a) 18 days

(b) 8 days

(c) 22 days

(d) 12 days

2. 9 children can complete a piece of work in 360 days. 18 men can complete the same
piece of work in 72 days and 12 women can complete the piece of work in 162 days.
In how many days can 10 men, 4 women and 12 children work together complete
same piece of work?

9 yeÛÛes efkeâmeer keâece keâes 360 efove ceW hetje keâjles nw~ 18 Deeoceer Gmeer keâece keâes 72 efove ceW Je 12 Deewjles Gme
keâece keâes 162 efove ceW keâjleer nw~ lees yeleeFÙeW 10 Deeoceer, 4 Deewjles Je 12 yeÛÛes efceuekeâj Gme keâeÙe& keâes efkeâleves
efove ceW hetje keâjWies~
(a) 124 days

(b) 96 days

(c) 68 days

(d) 81 days

3. A and B can together finish a work in 30 days. They worked together for 20 days
and then B left. After another 20 days A finished the remaining work. In how many
days can A alone finish the work?

A Je B efceuekeâj efkeâmeer keâece keâes 30 efove ceW hetje keâjles nw~ Jes efceuekeâj 20 efoveseb lekeâ keâeÙe& keâjles nw~ leLee B
keâeÙe& ÚesÌ[keâj Ûeuee peelee nw~ Deieues 20 efove heMÛeeled A yeÛÛee ngDee keâeÙe& hetje keâj ueslee nw~ leye yeleeFÙes efkeâ
A Dekesâuee Gme keâeÙe& keâes efkeâleves efove ceW hetje keâj uesiee~
(a) 80 days

(b) 60 days

(c) 40 days
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(d) 90 days

4. A can do a certain work in the same time in which B and C together can do it. If A
and B together could do it in 10 days and C alone in 50 days, then B alone could do
the work in

A Dekesâuee Gme keâeÙe& keâes hetje keâjlee nw~ efpemes B Je G efceuekeâj keâjles nw~ Ùeefo A Je B efceuekeâj Gme keâece keâes
10 efove ceW Je C Dekesâuee 50 efove ceW keâece hetje keâjlee nes leye B Dekesâuee Gme keâece keâes efkeâleves efove ceW hetje
keâjsiee~
(a) 15 days

(b) 20 days

(c) 25 days

(d) 30 days

5. A can complete a work in 12 days. B can completes the same work in 15 days. A
started working alone and after 3 days B joined him. How many days will they take
together to complete the remaining work?

A efkeâmeer keâece keâes 12 efove ceW hetje keâjlee nw~ B Gmeer keâece keâes 15 efove ceW keâjlee nw~ A Dekesâuee keâece Meg™
keâjlee nw Je 3 efove heMÛeeled B Gme keâeÙe& ceW Meeefceue nes peelee nw~ yeÛes ngS keâeÙe& keâes A Je B efceuekeâj efkeâleves
efove ceW hetje keâjWies~
(a) 5 days

(b) 8 days

(c) 6 days

(d) 4 days

6. 10 men, working 6 hours a day can complete a work in 18 days. How many hours a
day must 15 men work to complete the same work in 12 days?

10 Deeoceer 6 IeCšs keâeÙe& keâjkesâ efkeâmeer keâeÙe& keâes 18 efove ceW hetje keâjles nw~ efkeâleves IeCšs ueskeâj 15 Deeoceer
Gmeer keâeÙe& keâes 12 efove ceW hetje keâj uesieW~
(a) 15hrs

(b) 10 hrs

(c) 12hrs

(d) 6hrs

7. Vinod can complete a job in 15 hours. Vinay alone can complete the same job in 10
hours. Vinod works for 9 hours and then the remaining job is completed by Vinay
How many hours will Vinay take to complete the remaining job alone?

efJeveeso efkeâmeer keâeÙe& keâes 15 IeCšeW ceW hetje keâjlee nw~ efJeveÙe Dekesâuee Gme keâeÙe& keâes 10 IeCšs ceW keâjles nw~
efJeveeso 9 IeCšs keâeÙe& keâjkesâ yeÛee keâece hetje keâjlee nw~ Deewj efJeveÙe keâe keâece hetje nes peelee nw~ JeerveÙe efkeâleves
IeCšs ueskeâj Gme yeÛes ngÙes keâece keâes hetje keâj uesiee~
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(a) 4hrs

(b) 5hrs

(c) 6hrs

(d) 2hrs

8. 12 men can complete a piece of work in 4 days, while 15 women can complete the
same work in 4 days. 6 men start working on the job and after working 2 days, all of
them stopped working. How many women should be put on the job to complete the
remaining work, if it is to be completed in 3 days?

12 Deeoceer efkeâmeer keâeÙe& keâes 4 efove ceW hegje keâjles nw~ Jener 15 Deewjles B meer keâece keâes 4 efove ceW hetje keâjleer nw~
6 Deeoceer keâece keâjvee Meg® keâjles nw~ yeeo kesâ 2 efove heMÛeeled meYeer keâeÙe& yevo keâj osles nw~ efkeâleveer Deewjles yeÛes
keâece keâes 3 efove ceW hetje keâjWieer~
(a) 15

(b) 18

(c) 2

(d) Data inadequate

9. A does half work as much as B does in three-fourth of the time. If together they
take 18 days to complete the work, how much time shall B take to do it?

A B,  kesâ 314 keâe DeeOee keâece keâjlee nw Ùeefo oesvees efceuekeâj Gme keâece 18 efove ceW keâjles nw~ leye yeleeFÙes B
efkeâlevee meceÙe uesiee Gme keâece keâes keâjeW ceW~
(a) 40 days

(b) 30 days

(c) 25 days

(d) 20 days

10. A can do a piece of work in 16 days, B in 10 days. A and B work at it together for 6
days and then C finished it in 3 days, in how many days would C done it alone?

A efkeâmeer keâece keâes 16 efove ceW keâjlee nw~ B Gmeer keâece keâes 10 efove ceW hetje keâjlee nw A Je B efceuekeâj Gme
keâece keâes 6 efove ceW hetje keâjles nw~ Je C Gme keâece keâes 3 efove ceW hetje keâjlee nw~ leye yeleeFÙes C Dekesâuee Gme
keâece keâes efkeâleves efove ceW hetje keâjWiee~

(a) 53
1
3

 days

(b) 80 days

(c) 90 days

(d) 120 days
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11. A certain number of men can do a work in 60 days. If there were 8 men less it could
be finished in 10 days more. How many mer are there?

A efkeâmeer efveefMÛele keâece keâes 60 efove ceW keâjlee nw~ Jener Gve ceW mes Gme keâece keâes 8 JÙeefkeäleÙeeW Éeje nše efoÙes
peeÙes 10 efove ceW hetje efkeâÙee peelee nw~ leye efkeâleves JÙeefkeäle Gme keâece ceW ueies Les~
(a) 42 men

(c) 46 men

(b) 32 men

(d) 56 men
12. A can finish a work in 16 days at 5 hours a days. B can finish it in 12 days at 4 hours

a day. Find in how many days A and B can finish it working together 6 hours a day.

A efkeâmeer keâece keâes 16 efove ceW hetje keâjlee nw Je ØelÙeskeâ 5 IeCšs ueieekeâj~ B Gmeer keâece keâes 12 efove ceW hetje
keâjlee nw~ 4 IeCšs ueieekeâj yeleeF& efkeâleves efove ueieekeâj A Je B oesvees 6 IeCšs keâece keâjkesâ Gmes hetje keâjWies~
(a) 5 days

(b) 4 days

(c) 6 days

(d) 8 days
13. A builder decided to build a farm house in 45 days. He employed 150 men in the

beginning and 120 more after 30 days and complete the construction in stipulated
time. If he had not employed the additional men, how many days behind schedule
would it have been finished?

A B C, ,  efkeâmeer keâece 12 18 24, ,  efove ceW hetje keâjles nw~ 4 efove yeeo A keâece Úes[ oslee nw~ Je B oes efove
heMÛeele keâece kesâ efueÙes yegueeÙee peelee nw~ leeefkeâ keâece hetje nes mekesâ leye efkeâleves efove heMÛeeled mechetCe& keâeÙe& hetje
nesiee~
(a) 12 days

(b) 10 days

(c) 15 days

(d) 8 days

14. A, B and C can do a piece of work in 12, 18 and 24 days respectively, they work at it
together. A stops the work after 4 days and B is called off 2 days before the work is
done. In what time was the work finished?

(a) 7 days

(b) 4
4
13

 days

(c) 6 days

(d) 8 days
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15. 40 men, working 8 hours a day can do a piece of work in 15 days. Find the number
of days in which 60 men working 4 hours a day can do twice the work. Assume that
3 men of the first group do as much work in 2 hours as 2 men of the second group do
in 3 hours.

40 Deeoceer 18 IeCšs keâece keâjkesâ efkeâmeer keâece keâes 15 efove ces hetje keâjles nw~ efkeâleves efove heMÛeeled 60 Deeoceer
4 IeCšs Je Skeâ efove ceW ogievee keâece keâjles~
(a) 60 days

(b) 40 days

(c) 30 days

(d) 50 days
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